

$$f(n) = \frac{bn+r}{\lambda n+b} \quad n \Rightarrow 1 \Rightarrow \frac{b+r}{\lambda+b} \Rightarrow b=r \Rightarrow \lambda a = -r \Rightarrow a = -\frac{r}{\lambda} = \pm \frac{1}{r}$$

$$g(n) = c \quad c = \frac{1}{r} = \frac{b+r}{\lambda+b} = \pm \frac{1}{r}$$

$$Dg = \mathbb{R} - \{a\} \Rightarrow \lambda a + b = 0$$

$$b = \pm r \quad \frac{ba}{c} = \frac{r \times \pm \frac{1}{r}}{\frac{1}{r}} = \pm r$$

1A

$\frac{1}{r}$

$$\frac{rg}{f+g} \quad rg-1 = \{(-1, 3), (2, \sqrt{2}), (3, -4), (0, 0)\}$$

$$f = \{(-1, 2), (2, 4), (3, -2), (0, \frac{1}{r})\}$$

$$g = \{(2, 4), (3, 5), (-1, -4), (0, 0)\}$$

$$rg = \{(2, 1), (3, 12), (-1, -1), (0, 0)\}$$

$$\frac{rg}{f+g} = \frac{\{(2, 1), (3, 12), (-1, -1)\}}{\{(2, 1), (3, 2), (-1, -2)\}} = \{(2, 1), (2, 3), (-1, \frac{1}{r})\}$$

2

v

$$g = \{(2, -1), (-3, 1), (a-3b, d)\}$$

$$f = \{(2, a), (-3, 3a-2b), (2, d), (c, d)\}$$

$$a = -1 = d$$

$$3a-2b = 1 \Rightarrow -3-1 = 2b \Rightarrow b = -2$$

$$a-3b = c \Rightarrow -1-(-6) = d$$

$$d+c = -1+d = r$$

3

A

$$\sqrt{-(n-\frac{1}{r})^2} \Rightarrow a = n = \frac{1}{r} \quad b = 0 \quad \frac{1}{r} + 0 = \frac{1}{r}$$

4

q

$$f(n) = g(n) \Rightarrow \frac{rn+a}{n^2+\lambda n+b} = \frac{r}{n+c} \Rightarrow \frac{rn^2+an}{n^2+\lambda n+b} = \frac{rn^2+rcn+an+ac}{n^2+\lambda n+b}$$

$$(n-c)^2 = n^2+c^2-2nc$$

$$-2nc = \lambda n \Rightarrow c = -\frac{\lambda}{2}$$

$$n=0 \Rightarrow \frac{r}{b} = \frac{a}{c} \quad n=1 \Rightarrow \frac{1}{r} = \frac{r+a}{1+b} = r+a = \lambda+b$$

$$\begin{cases} rb-ra=0 \\ -ra-rb-\lambda=0 \\ a=\lambda, b=\lambda \end{cases} \quad a+b+c = \lambda+\lambda-\frac{\lambda}{2} = \frac{3\lambda}{2} = 12$$

5

1.